y % ﬁ Y 1& fyra brak, decimaler, ordningsfoljd med parenteser

namn: Datum: Poéng:

1
15(3,3+4,3)+ 5x3— = = (5+5.8)x3+

W | —
W N

-+ — 12(=- —=)~+ 2+5=

3
4
1 1 L0 2(5-3.7) =
5%20+5-34,2- 9)= 3x6+2-2(5-3,7)

1 1
4+ 5)x3+3,5= 15(z +4,8)+5x5-3,5 =

1 2 1
4+5(z—%)= ——33,8-4.7) =
3’ 5(2 3) 4 (7 9)
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5
M i ﬁ Y jtt fyra brak, decimaler, ordningsfoljd med parenteser

namn: Datum: Poéng:
15(3,3+4,3)+5X3—%=1(1)£=68% (%+5,8)X3+§=5;%7=19%
(§+2,3)X3—%=124—07=7% 12(%—§)+3X2+5=15—9=3§
%X20+5—3(4,2—%)=(—10) 3><6+2—2(5—3,7)=35—2=6§
(4+%)X3+3,5=17 15(%+4,8)+5X5—3,5=?=71%
3,4+5(%—§)=%=2;—(7) %_3(3’8_4’7):%:2%3
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